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𝜐 = 𝜐#+αt
𝑥 − 𝑥# = 𝜐#t+1/2αt2

1. ΚΙΝΗΣΗ	ΟΜΑΛΑ	ΣΤΑΘΕΡΗ

x= 𝜐#t

2. ΚΙΝΗΣΗ	ΟΜΑΛΑ	EΠITAXYNOMENH

𝑥 = 𝜐̅𝑡 𝜐̅ =
(𝜐# + 𝜐)

2
ό𝜋𝜊𝜐

3. ΕΛΕΥΘΕΡΗ	ΠΤΩΣΗ

Όπως	η	επιταχυνόμενη	κίνηση	αλλά	με	α=-g

𝜐2 = 𝜐#2+2α(x-x0)



𝜐 = 𝜐#+αt

0= 20 − 10 𝑡NO
𝑡NO = 2	𝑠

𝑦 − 𝑦# = 𝜐#t+1/2αt2

(α)

(β)

𝑦 − 0 = 20 2 −1/2(10)(2)2
𝑦 − 𝑦# = 𝜐#t-1/2gt2

𝑦𝑚𝑎𝑥 = 20	𝑚

𝜐 = 𝜐# −gt

(γ) 𝜐 = 𝜐#+αt 𝜐Γ = 𝜐# −g (2tαν)
𝜐Γ = 20 −10	(2.2) 𝜐Γ = −20	m/s

O(0,0)

(+)

υ0

g

υΓ= ?

υΕ = ?

1. ΠΑΡΑΔΕΙΓΜΑ



𝑦 − 𝑦# = 𝜐#t+1/2αt2(δ)

−50 = 20	t1 −1/2(10)t12

𝜐 = 𝜐#+αt

𝜐Ε = 𝜐# −g t1

𝜐Ε = −37,4	m/s

O(0,0)

(+)

υ0

g

υΓ= ?

υΕ = ?

t1 =	5,74	s	

5𝑡12 − 20𝑡1 − 50 = 0

t1 <0και

Επομένως:

𝜐Ε = 20 − 10. 5,74

1. ΠΑΡΑΔΕΙΓΜΑ
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